
We have free water in the separator gas line, and after the cooler there is a risk of hydrate formation. Therefore it is necessary to inject an 
inhibitor (e.g. MEG), to move the hydrate line to the left. There should be enough MEG to suppress hydrates in the place where there is most 
water (just after the cooler)

We can use the excel sheet of question 4, quiz 18:
http://www.ipt.ntnu.no/
~stanko/files/Courses/TPG4230/2021/Quizzes/Quiz18.html
We substitute our hydrate line and calculate the amount of weight % 
of MEG required such that the outlet of the cooler is outside the 
hydrate formation zone

So approximately 162 kg/hr of MEG is needed
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